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100. 6 0.1 0.6 101.0 0.4 1.3 5 /1
100. 1 0.5 0.4 100. 8 -0.3 1.1 6 /1
100. 1 0.0 0.6 100. 5 -0.3 0.9 7h
100. 3 0.1 0.7 100. 8 0.3 1.2 8 /i
100. 3 0.0 0.5 100. 9 0.0 1.2 9 A
100. 7 0.4 0.3 100. 9 0.1 0.8 104
101. 1 0.4 0.7 101. 5 0. 1.2 114
101. 3 0.2 1.3 101. 8 0.2 1.7 124
101.6 0.3 1.2 102. 0 0.2 2.1 201841
101. 8 0.2 1.6 102. 0 0.0 2.0 2 f1
101. 2 0.6 0.9 101.9 -0. 1 1.9 3 /1
101.0 -0. 1 0.4 101. 8 0.1 1.2 4
100.9 -0. 1 0.3 102. 1 0.3 1.1 5H
100. 8 -0. 1 0.7 101.9 0.2 1.2 6
101.0 0.2 0.9 102.0 0.0 1.5 7h
101. 8 0.7 1.5 102. 7 0.7 1.9 8 A
9 A
10AH
11AH
124




F6 fEIHHEEMBE FH/ITME

. Al i

B H 8 i T T ;ﬁt

84 A % %
5 D bk |EWNE, Bk, HJRRRK (BEHE, SRR OEEERR— Db o), 2AD (BkgAD), Tt eh) 148 2,115 2,115 0.0 0.3
5 A bk |[EWNE, Rk, HRRRK (BEH, SR OBEERFE—DH0), A (BkgAD), b A YEERS 148 2,044] 2,044 0.0 7.7
£ v | EEh 1kg 429 412 41 0.5
By 7 WHEXAT, 1T N (T7gAD) 11 152 160 -5.0 -5.0
NR B [, A (kg AD) 148 258 258] 0.0 3.6
R S e e R IR L i IRt W I IV I
5 n EIE 100g 200 181 10.5| 15.6
A » THHD, L 100g 166 118 40.7| 15.3
EE " [EPE M, m—A 100g 932 932 0.0 -1.2
&K " NT (BRER) 100g 236 2351 04| 2.9
= " TuA7—, bbA 100g 115 141 -18.4f -21.8
EE . A7, JEEHTEYD, MAHRAY (1, 000mLAY) 1A 207 2071 0.0 1.5
3 = 7 v L |[Femra—s bk, 400gAD L{i 160 165 -3.0 -
% 5 - E/ré[ﬁég/iyéi%?ﬁfﬂ\m’ PAXIEA, (IRE) TMS52g~LL76gAI ), TMS52g~L70gAi ) X Loy 930 as0l o0l 7s
EIO N A ED kg 1,405 1,052 33.6] 17.0
1 & HAE 1kg 644 684| 5.8 8.6
[URRE S /NANE 1kg 323 333] -3.0 -0.9
72 £ R & |FREREZR 1kg 254 264] -3.8] 21.0
Fo~ kb 1kg 711 608] 16.9] 34.2
=) & AR, I 1kg 296 296 0.0 1.7
mooB o [EEBY 1kg 1,690 1,790 -5.6] -6.5
U] i [273%, 118200~400¢ 1kg 739 - - 200
2 T TV RE (RS R L 2 BR<) 1kg 334 326] 2.5 215
& A M [Fv/—TGer) il RUEAL (1, 000gAY) 14 300 300 0.0 0.0
el RN BER DT, RUEHRAD (3608 AD) 1A 340 3401 0.0 0.0
rooo— % [wbZva—kr—F, 1 (70~120g) 114 325 325 0.0 2.8
T A AT Y — N (NR=FTARZ)—L, By AV (110mLAD) 11 261 274 471 44
Eis & FHIRVI U EMEICB DR/ BI/VIY, FHOWNF Y, I 1 533 5331 0.0 6.4
T L (7 Y ) [IZE0FLEEMEZERS), 8~10f@AD, I 137 610 610 0.0 3.0
7S A =S 100g 248 247 0.4 0.4
b b T |BA, BRL, I 100g 191 911 0.0 0.0
*O& Fhay BAEEE, Sy MRIMVAY (525mLAD) IN 93 86l 8.1 -
v — b ¥, 1A (350mLAY), 615D 137 1,234 1,234 0.0 1.1
AL —=FA X (S ) 1m 805 805 0.0 0.0
BE O &) hne, i 1AHT 895 895 0.0 0.0
v =L (4 &) |EERICBTRE =, %A, FR(500mLAD) 1R 626 626 0.0 6.6

RT3, AR T

ERERWIE, B, PR TRIOSERIEZTT > TRY, £ ST RO ZFEL TVET,
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moA | A 4E
RO INTEATAS
i} H & i) Bz 54 [d A Ltk
81 7H % %

% (R ¥ |REsE 1373;):]2' 3,580 3,576 0.1 0.5

om

;T ] HATH, G50 X580, JEHHTED 18L 1,821 1,719 5.9 32.5

_ BB e R TRERA AT, oL — M BERARL (ERIFES) M E2. 8kW, EFES. 6 o]

VTR TE T T YW, GBI — R 6. T~T. 2, 7L — F IR X, FRei e X Ih o [Ero6msf o6l 6.2l 9.9
HEET T WwITUT, B, 3EN, 3S0WE 1K 1,190 1,190 0.0 0.0
BE W B Al 5 BB, - BR - B BCHEHE R, IR, BEORR XM, 28AD (720~810g AV) 1kg 306 299 2.3 -9.2

—— — - - YT — =
A 2Ty s R TN— /«7\; (FEM) 7 =4, Ti100% ) IETHR95% L. E-RIT L ABH ), (FAXITW64 1A 3521 3591 0.0 0.0
~70cm, ki
W N T ¥ {46 Fql, $#1100%, FVb, (FAXIM, i dh 1# 1,073 1,073 0.0 0.0
SN 4 SNUTA, ()R, UR)ARE L, UEORGEIRVAT, (H1X)23~24cm, F#kdh 12 10,584 10,584 0.0 0.0
KU 7 Al [REEIERSNG, FAD (100mL X 104K AD) 154 1,047 1,047 0.0 2.4
- (LR T TAF LR, FEERITL X, SR, JEIT#EL. 60, UVAvh, (7L —2) 5 -

/5 i VLR, RIS 7L — o, i 0TS 1 31,212 31,212 0.0 0.0
Kooy v [vxag—HVI, BT —ERRERL 1L 153 153 0.0 15.9
O B [AWEEEECEE, BARZUBEEYS, 7 AT 7 VNS, /N B B 1A 9,267| 9,267 0.0 0.0

_ KT LE, 32VRL, # L7 U2 F a—F—2 5Nk, N AE T ar st in L, LED/Sy 27 Z Ak .
2 N = B 5 PR X < 1% 54,216 51,444 5.4 0.8

b — = TRy ey Ry, HEM)RVEZRATL100%, (FARX)S~L, Fikih 1A 5,503 5,503 0.0 -9.0

e moOB OB OB | 1[5 1,800 1,800 0.0 0.0
w2 B WEREZ (Dob, v=—btr s, vy 7 —, 'ob), B GERELTEERL) 1[a] 3,950 3,950 0.0 0.0
b ¥t 7 U — & [Bovyesikpt, 40gAY A | 5,400 54000 0.0 00

(7E1) “FRk304E4 H A $8i A T 7L —ra— 2 L, 400~450g AV |35 7L —2=3—27 )Lk, 400g AD [\ZEF L,
HNr & kg 1 20 N HE B H LIz,

(FE2) PRk 304F 1 H AR SR A T B adl, LYAX, o235 (L0EAD) 1T By, /o255 (10EAD), S ARG A E,

(FE3)VAT:8H~10A X225 ), ZNLUSOEHIZI 5L,

(1E4) FRR304E1H

HAALZT1000mL) S T1IA ICE T LTz,

(715) *FRR294E 11 A FHARSHIP 2 T-E B, i R - & RaiiE N, HE1R,

DR ZH, A (770~850g AD) |5

B RHEA, -8R & Rl TRIE, GEDBZM, WA (T20~810gAD) |IZZEH,
(1E6) 4 A ~8 A XM AT > (th) 1. 9A ~3 A 1EMm A& —4 — (BANUZT /040 1 & Faifik,
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TN E TRASEOEL, o MRV A (500~550mLAD) 1225 RS AR, <Xy MRV AD (525mLAY) IZETEL




